Acc Geo 7.5 Book Solutions

Pg. 419 #1,2, 8-10, 12,13

L AWZX, it AWZX ~ ASRT, 5T =6,

1. ADEF, if AABC ~ ADEF,
AB=5BC=6,AC=7, WX =5, and the perimeter of
and DE=3 MSRT =15 12.5
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Find the perimeter of the given triangle.
9, AADF, if AADF ~ ABCE,

8. ABCD, if ABCD ~ AFDE,
CD=12FD=5FE=4 BC=24EB=12,CE=15,
and DE =8 25.5 and DF =21 63
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10. ACBH, if ACBH ~ AFEH, 1. ADEF, if ADEF ~ ACEF,
ADEG is a parallelogram, perimeter of ACBF = 27,
CH=7,FH=10,FE=11, DF=6,FC=8 20.25
and EH=6 18.9 c
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13. AABC, if AABC ~ ACBD,
AD=5CD=12,BC=312 T8
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12. AABC, if AABC ~ ACBD,
CD=4,DB=3,andCB=5 20

[

A 5D
|l

5§ 12
Nz




